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N.B. :— () Question No. 1 is compulsory.
(i1) Solve any three from remaining five questions.
1. Solve the following : 20
(@) Predict the product of the following reaction with mechanism :
/ \ SOClg/CHgNg 9
COOH Agg0/H90 :
S
b) Explain Vilsmeier-Haack reaction with mechanism.
(c) Predict the product of the following reaction ? Comment on its
chemoselectivity :
HO oH  (NHyyCe (NOy)g
NaBrO,, CH,CN
P.T.O.
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(d) Complete the following reaction :

OCH,

Na/NH,(1)

— 7?7

@

Vs

COOH

i Na/C,H;0H

Vs

Answer the following : 20

(@) Complete and outline the mechnism of the following reaction :

%
CH = CH
@®
@) [:::]// H > ?
0]
@2) <::%:;7 CFyCO00H

(b) Give the uses of the following oxidising agent with mechanism in organic

synthesis :
@)  HIO,.
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3. Explain the following : 20

(@)

)

(@)

What is Corey-Winter olefication ? Explain with suitable example and

mechanism.

How will you obtain the following compounds using suitable reagent ?

Explain with mechanism :

O
@) using DCC
N
|
H

(i) ;l using red Alumina.

Solve the following :

Predict the product of the following reaction with mechanism : 20

O
O
(i) EtOH (ii) NH,~NH,
Gi) MeO COOH >9
(iti) HNO, (iv) C¢Hg
(v) H,0

P.T.O.
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(b) Predict the product of the following reactions with mechanism :
O
@) TiCl,/Zn 0
THF
Br
Cl
(2) Pd(OAc),
(id) 2N . >
COOCH;  (ii) PPh,
(117) K,CO4
130°C
Solve the following : 20
(@) Predict the product of the following reaction with mechanism :
OH
@) Jones )
OH reagent
OH
) M/\OH Ag,COq4 5
CGHG
b) How will you convert carboxylic acid into alcohol using the following

reagents, explain with mechanism :
@) BH,
@)  LiAlHg.
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6. Write short notes on the following : 20
(@) Pinacol-pinacolone rearrangement
b) Bathford Steven’s and discuss role of solvent
(c) Lead tetraacetate
(d) Hydrogenolysis using BBrg and HI.
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